

- 9:

. - 2013. - .1, .1 - . 233-235

$$\begin{aligned} \rho \dot{v}_x &= \frac{\partial T_{xx}}{\partial x} + \frac{\partial T_{xy}}{\partial y} + f_x & \rho \dot{v}_y &= \frac{\partial T_{yy}}{\partial y} + \frac{\partial T_{xy}}{\partial x} + f_y \\ \dot{T}_{xx} &= (\lambda + 2\mu) \frac{\partial v_x}{\partial x} + \lambda \frac{\partial v_y}{\partial y} + g_{xx} & \dot{T}_{yy} &= (\lambda + 2\mu) \frac{\partial v_y}{\partial y} + \lambda \frac{\partial v_x}{\partial x} + g_{yy} & \dot{T}_{xy} &= \mu \left(\frac{\partial v_x}{\partial y} + \frac{\partial v_y}{\partial x} \right) + g_{xy} \end{aligned}$$

, f -

g -

[2]

$$\iint_{A_{xy}} \rho \dot{v}_x dx dy = \iint_{A_{xy}} \left[\frac{\partial T_{xx}}{\partial x} + \frac{\partial T_{xy}}{\partial y} + f_x \right] dx dy = \oint_{\partial A_{xy}} [T_{xx} dy - T_{xy} dx] + \iint_{A_{xy}} f_x dx dy$$

$$\rho \dot{v}_x \Delta x \Delta y = [T_{xx}^{(r)} - T_{xx}^{(l)}] \Delta x + [T_{xy}^{(d)} - T_{xy}^{(u)}] \Delta y + f_x \Delta x \Delta y$$

$$\dot{v}_x = \frac{[T_{xx}^{(r)} - T_{xx}^{(l)}]}{\rho \Delta x} + \frac{[T_{xy}^{(d)} - T_{xy}^{(u)}]}{\rho \Delta y} + \frac{f_x}{\rho} \qquad \dot{v}_y = \frac{[T_{yy}^{(d)} - T_{yy}^{(u)}]}{\rho \Delta y} + \frac{[T_{xy}^{(r)} - T_{xy}^{(l)}]}{\rho \Delta x} + \frac{f_y}{\rho}$$

:

$$\dot{T}_{xx} = (\lambda + 2\mu) \frac{[v_x^r - v_x^l]}{\Delta x} + \lambda \frac{[v_y^d - v_y^u]}{\Delta y} + g_{xx} \qquad \dot{T}_{yy} = (\lambda + 2\mu) \frac{[v_y^d - v_y^u]}{\Delta y} + \lambda \frac{[v_x^r - v_x^l]}{\Delta x} + g_{yy}$$

$$\dot{T}_{xy} = \mu \frac{[v_x^d - v_x^u]}{dy} + \mu \frac{[v_y^r - v_y^l]}{dx} + g_{xy} \Delta x \Delta y$$

,

:

$$V_x(x, y, t), V_y(x, y, t), T_{xx}(x, y, t), T_{yy}(x, y, t), T_{xy}(x, y, t).$$

,

:

$$\dot{v}_x(x, y, t) = \frac{T_{xx}(x, y, t) - T_{xx}(x+1, y, t)}{\rho(x, y) \partial x} + \frac{T_{xy}(x, y, t) - T_{xy}(x, y-1, t)}{\rho(x, y) \partial y} + f_x$$

$$\dot{v}_y(x, y, t) = \frac{T_{yy}(x, y+1, t) - T_{yy}(x, y, t)}{\rho(x, y) \partial y} + \frac{\partial T_{xy}(x, y, t) - \partial T_{xy}(x-1, y, t)}{\rho(x, y) \partial x} + f_y$$

$$\dot{T}_{xx}(x, y, t) = (\lambda(x, y) + 2\mu(x, y)) \frac{v_x(x, y, t) - v_x(x-1, y, t)}{\partial x} + \lambda(x, y) \frac{v_y(x, y, t) - v_y(x, y-1, t)}{\partial y} + g_{xx}$$

$$\dot{T}_{yy}(x, y, t) = (\lambda(x, y) + 2\mu(x, y)) \frac{v_y(x, y, t) - v_y(x, y-1, t)}{\partial y} + \lambda(x, y) \frac{v_x(x, y, t) - v_x(x-1, y, t)}{\partial x} + g_{yy}$$

$$\dot{T}_{xy}(x, y, t) = \mu(x, y) \left(\frac{v_x(x, y+1, t) - v_x(x, y, t)}{\partial y} + \frac{v_y(x+1, y, t) - v_y(x, y, t)}{\partial x} \right) + g_{xy}$$

,

$$v_x(x, y, t+1) = v_x(x, y, t) + \frac{T_{xx}(x, y, t) - T_{xx}(x+1, y, t)}{\rho(x, y) \partial x} + \frac{T_{xy}(x, y, t) - T_{xy}(x, y-1, t)}{\rho(x, y) \partial y} + f_x$$

$$v_y(x, y, t+1) = v_y(x, y, t) + \frac{T_{yy}(x, y+1, t) - T_{yy}(x, y, t)}{\rho(x, y) \partial y} + \frac{\partial T_{xy}(x, y, t) - \partial T_{xy}(x-1, y, t)}{\rho(x, y) \partial x} + f_y$$

$$T_{xx}(x, y, t+1) = T_{xx}(x, y, t) + (\lambda(x, y) + 2\mu(x, y)) \frac{v_x(x, y, t) - v_x(x-1, y, t)}{\partial x} + \lambda(x, y) \frac{v_y(x, y, t) - v_y(x, y-1, t)}{\partial y} + g_{xx}$$

$$T_{yy}(x, y, t+1) = T_{yy}(x, y, t) + (\lambda(x, y) + 2\mu(x, y)) \frac{v_y(x, y, t) - v_y(x, y-1, t)}{\partial y} + \lambda(x, y) \frac{v_x(x, y, t) - v_x(x-1, y, t)}{\partial x} + g_{yy}$$

$$T_{xy}(x, y, t+1) = T_{xy}(x, y, t) + \mu(x, y) \left(\frac{v_x(x, y+1, t) - v_x(x, y, t)}{\partial y} + \frac{v_y(x+1, y, t) - v_y(x, y, t)}{\partial x} \right) + g_{xy}$$

: . . . ,

. . .